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Q1 . Atouch screen is divided up into a number of locations
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and each y-position is shown in a 5-bit register.
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Thus,
32 16 8 4 2 1

0 1 1 1 1 0

refers to screen position: (30, 21)
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(@)  Give the screen position referred to if the two registers contain:

32 16 8 4 2 1 16 8 4 2 1
1 1 0 1 0 o o 1 1 1 0

(b)  Three options (A, B, C) are shown on the touch screen below:

position position
Al (20,11) @o,11) |B

position
€| (30,25)

If the two registers contain

82181 8 i 4Tt 21Tt i 1185 B4 21
1,01 /0|0 /f0 o101 1

what option (A, B or C) has been chosen?

(c)  EachboxA,B, Cismade up of 128 x 64 pixels
(i) What is meant by the term pixef?
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(i)) The value of each pixelis stored in 1 byte of memory.
How much memory is needed to store one of these boxes?
Give your answer in kilobytes.





